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Question 1

Question Type: MultipleChoice

Using the "normal” schedule, theoretically construct a hammock for activities 2001 through 2004. What is the duration of the hammock?



Logic Normal Schedule Crashed Schedule
D Activity succ. Rel. | Lag | Days | Direct Days | Direct
Costs Costs
General 11001 | FF 1072 | §3,080,000 | 510 52,902,300
1000 i
Conditions
- » 1000 55 85 $563,000 67 $728,000
1001 iiilkmmawcm' 2001 -
7001 FS
o River Diversion 2002 Fs 92 $150,000 75 $190,000
Stage 1
River Diversion 2003 F5 38 525,000 28 35,000
2002
Stage 2
- River Diversion 2004 FS 15 $18,000 11 $20,000
Dam 3001 FS
2004 River Diversion to | 3001 F5 38 596,000 38 596,000
Pipeline 7001 FS
4001 55 15 | 30 $482,000 100 | $515,000
. 4001 FF 15
2001 Eiiauatmn. Dam 5001 55 65 }
5001 FF 65
7001 FS
Excavation, 5001 55 45 152 5608,000 118 5692,000
4001 T 5001 FF 45
Py 9001 | Fs
5001 Drill and Grout 6001 FS 02 S637,000 82 S650,000
Dam Site
6001 Rock Fill: to 6002 FS 140 51,352,000 | 105 51,470,000
elevation 25
6002 Rock Fill: to 6003 FS 115 5969,000 895 51,125,000
elevation 38
3001 FS 65 152 51,360,000 | 113 51,540,000
Rock Fill: to 9002 55 63
500 elevation 50 002 FF [:?
9003 FS
11001 | FS 48 $180,000 38 5205,000
7001 Permanent Roads 2004 FS
Valve House 9004 FS 528,000 22 536,000
3001
Embankment
; 11001 | FS 175 51,120,000 | 155 51,305,000
Spillway =
2004 Concrete S E
9003 FS
.| Dam Concrete 1001 | FS 180 | $1,260,000 | 160 | 51,485,000




Options:

A- 91 days

B- 183 days
C- 193 days
D- 168 days

Answer:

B

Question 2

Question Type: MultipleChoice

Using the "normal” schedule, theoretically construct a hammock for activities 6001-6003. What is the duration of the hammock?



Logic Normal Schedule Crashed Schedule
D Activity succ. Rel. | Lag | Days | Direct Days | Direct
Costs Costs
General 11001 | FF 1072 | §3,080,000 | 510 52,902,300
1000 i
Conditions
- » 1000 55 85 $563,000 67 $728,000
1001 iiilkmmawcm' 2001 -
7001 FS
o River Diversion 2002 Fs 92 $150,000 75 $190,000
Stage 1
River Diversion 2003 F5 38 525,000 28 35,000
2002
Stage 2
- River Diversion 2004 FS 15 $18,000 11 $20,000
Dam 3001 FS
2004 River Diversion to | 3001 F5 38 596,000 38 596,000
Pipeline 7001 FS
4001 55 15 | 30 $482,000 100 | $515,000
. 4001 FF 15
2001 Eiiauatmn. Dam 5001 55 65 }
5001 FF 65
7001 FS
Excavation, 5001 55 45 152 5608,000 118 5692,000
4001 T 5001 FF 45
Py 9001 | Fs
5001 Drill and Grout 6001 FS 02 S637,000 82 S650,000
Dam Site
6001 Rock Fill: to 6002 FS 140 51,352,000 | 105 51,470,000
elevation 25
6002 Rock Fill: to 6003 FS 115 5969,000 895 51,125,000
elevation 38
3001 FS 65 152 51,360,000 | 113 51,540,000
Rock Fill: to 9002 55 63
500 elevation 50 002 FF [:?
9003 FS
11001 | FS 48 $180,000 38 5205,000
7001 Permanent Roads 2004 FS
Valve House 9004 FS 528,000 22 536,000
3001
Embankment
; 11001 | FS 175 51,120,000 | 155 51,305,000
Spillway =
2004 Concrete S E
9003 FS
.| Dam Concrete 1001 | FS 180 | $1,260,000 | 160 | 51,485,000




Options:

A- 407 days
B- 362 days
C- 255 days
D- 267 days

Answer:

A

Question 3

Question Type: MultipleChoice

Activity 1001 started on the scheduled date but has slipped 10 days. Activity 10002 will slip 35 days. All remaining activities retain their
original duration. What is the revised completion date?



Logic Normal Schedule Crashed Schedule
D Activity succ. Rel. | Lag | Days | Direct Days | Direct
Costs Costs
General 11001 | FF 1072 | §3,080,000 | 510 52,902,300
1000 i
Conditions
- » 1000 55 85 $563,000 67 $728,000
1001 iiilkmmawcm' 2001 -
7001 FS
o River Diversion 2002 Fs 92 $150,000 75 $190,000
Stage 1
River Diversion 2003 F5 38 525,000 28 35,000
2002
Stage 2
- River Diversion 2004 FS 15 $18,000 11 $20,000
Dam 3001 FS
2004 River Diversion to | 3001 F5 38 596,000 38 596,000
Pipeline 7001 FS
4001 55 15 | 30 $482,000 100 | $515,000
. 4001 FF 15
2001 Eiiauatmn. Dam 5001 55 65 }
5001 FF 65
7001 FS
Excavation, 5001 55 45 152 5608,000 118 5692,000
4001 T 5001 FF 45
Py 9001 | Fs
5001 Drill and Grout 6001 FS 02 S637,000 82 S650,000
Dam Site
6001 Rock Fill: to 6002 FS 140 51,352,000 | 105 51,470,000
elevation 25
6002 Rock Fill: to 6003 FS 115 5969,000 895 51,125,000
elevation 38
3001 FS 65 152 51,360,000 | 113 51,540,000
Rock Fill: to 9002 55 63
500 elevation 50 002 FF [:?
9003 FS
11001 | FS 48 $180,000 38 5205,000
7001 Permanent Roads 2004 FS
Valve House 9004 FS 528,000 22 536,000
3001
Embankment
; 11001 | FS 175 51,120,000 | 155 51,305,000
Spillway =
2004 Concrete S E
9003 FS
.| Dam Concrete 1001 | FS 180 | $1,260,000 | 160 | 51,485,000




Options:

A-02-19-04
B- 03-21-04
C-03-11-04
D- 03-20-04

Answer:

C

Question 4

Question Type: MultipleChoice

Is activity 7001 pictured correctly in the precedence diagram?



Logic Normal Schedule Crashed Schedule
D Activity succ. Rel. | Lag | Days | Direct Days | Direct
Costs Costs
General 11001 | FF 1072 | §3,080,000 | 510 52,902,300
1000 i
Conditions
- » 1000 55 85 $563,000 67 $728,000
1001 iiilkmmawcm' 2001 -
7001 FS
o River Diversion 2002 Fs 92 $150,000 75 $190,000
Stage 1
River Diversion 2003 F5 38 525,000 28 35,000
2002
Stage 2
- River Diversion 2004 FS 15 $18,000 11 $20,000
Dam 3001 FS
2004 River Diversion to | 3001 F5 38 596,000 38 596,000
Pipeline 7001 FS
4001 55 15 | 30 $482,000 100 | $515,000
. 4001 FF 15
2001 Eiiauatmn. Dam 5001 55 65 }
5001 FF 65
7001 FS
Excavation, 5001 55 45 152 5608,000 118 5692,000
4001 T 5001 FF 45
Py 9001 | Fs
5001 Drill and Grout 6001 FS 02 S637,000 82 S650,000
Dam Site
6001 Rock Fill: to 6002 FS 140 51,352,000 | 105 51,470,000
elevation 25
6002 Rock Fill: to 6003 FS 115 5969,000 895 51,125,000
elevation 38
3001 FS 65 152 51,360,000 | 113 51,540,000
Rock Fill: to 9002 55 63
500 elevation 50 002 FF [:?
9003 FS
11001 | FS 48 $180,000 38 5205,000
7001 Permanent Roads 2004 FS
Valve House 9004 FS 528,000 22 536,000
3001
Embankment
; 11001 | FS 175 51,120,000 | 155 51,305,000
Spillway =
2004 Concrete S E
9003 FS
.| Dam Concrete 1001 | FS 180 | $1,260,000 | 160 | 51,485,000




Options:

A- No, the total float is not shown correctly.
B- Yes, except the early finish date is not shown.
C- No, the start-to-start and finish-to-finish relationships are backwards.

D- Yes, the duration is 48 days.

Answer:

D

Question 5

Question Type: MultipleChoice

Determine the correct formula and date for the late finish for Activity 2001.



Logic Normal Schedule Crashed Schedule
D Activity succ. Rel. | Lag | Days | Direct Days | Direct
Costs Costs
General 11001 | FF 1072 | §3,080,000 | 510 52,902,300
1000 i
Conditions
- » 1000 55 85 $563,000 67 $728,000
1001 iiilkmmawcm' 2001 -
7001 FS
o River Diversion 2002 Fs 92 $150,000 75 $190,000
Stage 1
River Diversion 2003 F5 38 525,000 28 35,000
2002
Stage 2
- River Diversion 2004 FS 15 $18,000 11 $20,000
Dam 3001 FS
2004 River Diversion to | 3001 F5 38 596,000 38 596,000
Pipeline 7001 FS
4001 55 15 | 30 $482,000 100 | $515,000
. 4001 FF 15
2001 Eiiauatmn. Dam 5001 55 65 }
5001 FF 65
7001 FS
Excavation, 5001 55 45 152 5608,000 118 5692,000
4001 T 5001 FF 45
Py 9001 | Fs
5001 Drill and Grout 6001 FS 02 S637,000 82 S650,000
Dam Site
6001 Rock Fill: to 6002 FS 140 51,352,000 | 105 51,470,000
elevation 25
6002 Rock Fill: to 6003 FS 115 5969,000 895 51,125,000
elevation 38
3001 FS 65 152 51,360,000 | 113 51,540,000
Rock Fill: to 9002 55 63
500 elevation 50 002 FF [:?
9003 FS
11001 | FS 48 $180,000 38 5205,000
7001 Permanent Roads 2004 FS
Valve House 9004 FS 528,000 22 536,000
3001
Embankment
; 11001 | FS 175 51,120,000 | 155 51,305,000
Spillway =
2004 Concrete S E
9003 FS
.| Dam Concrete 1001 | FS 180 | $1,260,000 | 160 | 51,485,000




Options:

A- LF.2001 - 1 day -> 08-28-01.
B- LS.2002- 1 day-> 08-29-01.

C-LS.2002 + 1 day -> 08-30-01.
D- LS.2002 - 1 day -> 08-28-01.

Answer:

D

Question 6

Question Type: MultipleChoice

Determine the driving activity for Activity 10001.



Logic Normal Schedule Crashed Schedule
D Activity succ. Rel. | Lag | Days | Direct Days | Direct
Costs Costs
General 11001 | FF 1072 | §3,080,000 | 510 52,902,300
1000 i
Conditions
- » 1000 55 85 $563,000 67 $728,000
1001 iiilkmmawcm' 2001 -
7001 FS
o River Diversion 2002 Fs 92 $150,000 75 $190,000
Stage 1
River Diversion 2003 F5 38 525,000 28 35,000
2002
Stage 2
- River Diversion 2004 FS 15 $18,000 11 $20,000
Dam 3001 FS
2004 River Diversion to | 3001 F5 38 596,000 38 596,000
Pipeline 7001 FS
4001 55 15 | 30 $482,000 100 | $515,000
. 4001 FF 15
2001 Eiiauatmn. Dam 5001 55 65 }
5001 FF 65
7001 FS
Excavation, 5001 55 45 152 5608,000 118 5692,000
4001 T 5001 FF 45
Py 9001 | Fs
5001 Drill and Grout 6001 FS 02 S637,000 82 S650,000
Dam Site
6001 Rock Fill: to 6002 FS 140 51,352,000 | 105 51,470,000
elevation 25
6002 Rock Fill: to 6003 FS 115 5969,000 895 51,125,000
elevation 38
3001 FS 65 152 51,360,000 | 113 51,540,000
Rock Fill: to 9002 55 63
500 elevation 50 002 FF [:?
9003 FS
11001 | FS 48 $180,000 38 5205,000
7001 Permanent Roads 2004 FS
Valve House 9004 FS 528,000 22 536,000
3001
Embankment
; 11001 | FS 175 51,120,000 | 155 51,305,000
Spillway =
2004 Concrete S E
9003 FS
.| Dam Concrete 1001 | FS 180 | $1,260,000 | 160 | 51,485,000




Options:

A- Activity 11001.
B- Activity 10002.
C- Activity 9005.

D- There is no driving activity for Activity 10001 in the backward pass.

Answer:

C

Question 7

Question Type: MultipleChoice

Determine the correct formula and date for the late finish for Activity 2002.



Logic Normal Schedule Crashed Schedule
D Activity succ. Rel. | Lag | Days | Direct Days | Direct
Costs Costs
General 11001 | FF 1072 | §3,080,000 | 510 52,902,300
1000 i
Conditions
- » 1000 55 85 $563,000 67 $728,000
1001 iiilkmmawcm' 2001 -
7001 FS
o River Diversion 2002 Fs 92 $150,000 75 $190,000
Stage 1
River Diversion 2003 F5 38 525,000 28 35,000
2002
Stage 2
- River Diversion 2004 FS 15 $18,000 11 $20,000
Dam 3001 FS
2004 River Diversion to | 3001 F5 38 596,000 38 596,000
Pipeline 7001 FS
4001 55 15 | 30 $482,000 100 | $515,000
. 4001 FF 15
2001 Eiiauatmn. Dam 5001 55 65 }
5001 FF 65
7001 FS
Excavation, 5001 55 45 152 5608,000 118 5692,000
4001 T 5001 FF 45
Py 9001 | Fs
5001 Drill and Grout 6001 FS 02 S637,000 82 S650,000
Dam Site
6001 Rock Fill: to 6002 FS 140 51,352,000 | 105 51,470,000
elevation 25
6002 Rock Fill: to 6003 FS 115 5969,000 895 51,125,000
elevation 38
3001 FS 65 152 51,360,000 | 113 51,540,000
Rock Fill: to 9002 55 63
500 elevation 50 002 FF [:?
9003 FS
11001 | FS 48 $180,000 38 5205,000
7001 Permanent Roads 2004 FS
Valve House 9004 FS 528,000 22 536,000
3001
Embankment
; 11001 | FS 175 51,120,000 | 155 51,305,000
Spillway =
2004 Concrete S E
9003 FS
.| Dam Concrete 1001 | FS 180 | $1,260,000 | 160 | 51,485,000




Options:

A- LS.2003 - 1 day -> 11.06.01.
B- LS.2003 - 1 day -> 10-06-01.
C- LS.2003 + 1 day -> 10-07-01.
D- LS.2003 - 1 day -> 10-05-01.

Answer:

D

Question 8

Question Type: MultipleChoice

Determine the correct formula and date for the late start for Activity 9001.



Logic Normal Schedule Crashed Schedule
D Activity succ. Rel. | Lag | Days | Direct Days | Direct
Costs Costs
General 11001 | FF 1072 | §3,080,000 | 510 52,902,300
1000 i
Conditions
- » 1000 55 85 $563,000 67 $728,000
1001 iiilkmmawcm' 2001 -
7001 FS
o River Diversion 2002 Fs 92 $150,000 75 $190,000
Stage 1
River Diversion 2003 F5 38 525,000 28 35,000
2002
Stage 2
- River Diversion 2004 FS 15 $18,000 11 $20,000
Dam 3001 FS
2004 River Diversion to | 3001 F5 38 596,000 38 596,000
Pipeline 7001 FS
4001 55 15 | 30 $482,000 100 | $515,000
. 4001 FF 15
2001 Eiiauatmn. Dam 5001 55 65 }
5001 FF 65
7001 FS
Excavation, 5001 55 45 152 5608,000 118 5692,000
4001 T 5001 FF 45
Py 9001 | Fs
5001 Drill and Grout 6001 FS 02 S637,000 82 S650,000
Dam Site
6001 Rock Fill: to 6002 FS 140 51,352,000 | 105 51,470,000
elevation 25
6002 Rock Fill: to 6003 FS 115 5969,000 895 51,125,000
elevation 38
3001 FS 65 152 51,360,000 | 113 51,540,000
Rock Fill: to 9002 55 63
500 elevation 50 002 FF [:?
9003 FS
11001 | FS 48 $180,000 38 5205,000
7001 Permanent Roads 2004 FS
Valve House 9004 FS 528,000 22 536,000
3001
Embankment
; 11001 | FS 175 51,120,000 | 155 51,305,000
Spillway =
2004 Concrete S E
9003 FS
.| Dam Concrete 1001 | FS 180 | $1,260,000 | 160 | 51,485,000




Options:

A- The early finish is required in order to determine the answer.
B- LS.6001 Dur.6001 -> 11-20-02.
C- There is insufficient data provided to calculate the answer.

D- LF.9001 Dur.9001 -> 11-20-02.

Answer:

D
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